YWY (PEIIE Fres awe (FTeTer 2147)
SIfE8 3¢ .09.2038; TG » TBf; e doo
01. G (I (ERIT SES?
a) el b) e
¢) 38T d) merersE ans. C

B 4G GG T T AL |
Gt &SI ATREE FECHE T G 7 AGdrAr |
IO JETI, AGHRT, RAT 8 WarEo@ oreee
fea sifos e 2y &=om |

02. IRFTCACHR 74gRR I RR 7 @ w=fge?
a) A& b) HRAET
¢) TR d) CSET ans. A

FIAET Yo GO AR P @H
gfoe zrarz | @ft qREmwae Jrew g fagge
(@FH | 09 AEE 8 @@ o G2 JqFF (A
TeAITe wo (IANSAG IR ST =12 RIS
Fer GTF ZCACK |

03. <FM T AR *BLFIC (FH0?
a) S0 b) ©OW©
c) B5d d) 3 ans. C

Solution: KGRI IR T C RS s e Gl ERO Gl
0T HoS | TPl O 8 G (EEeTCTd =4
TET 000 | YA (RFIRCE T9d 20T oW |
Y ffeg aRs S=abtad Fo9E @E
T |

04. (AT AN BT (i F© fSefaioE?
a) R.8¢ b) ©v.O
c) 9.80 d) ©.89 ans. B

Solution IGERGIREIRCRFIR I Ete M Tl
BIS's ST NG (O TECR FAGE BT
IHF BT | Sy, SEe GItated (7 ©.80
TG | SOYNa SR ard weenee [Afife
TACT, (A AT IHAF I | 92 BIEs Bl
34l T R TMHE 209 M |

05. IRFTATHR TR, RGII (TR ZA?
a) ST b) I=FveE fR4ar st
) DI d)dcEd e ans. C

Solution JRIQIGEEE IR S oo R C o

oIt 354d M W & FEE T
THATEEE Haoica 9o AT [0ad (el Jreguad

o0 G2 GFF 9RO |

06. SRS TGS S BN (2AfTS FHINAT T F?2
a) THAME- © b) 5HIE-
c) faeew d) SCie ans. A
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20 WPFT 0O T SRCSH TSR
TRAF-0" DIV STHeTO S0 HCa | 4T,
FIMRT 3 B 9 I FHIAW FH-:¢” BT
1017 g, «ft feamer zifaca brov faee =30 |

ARG (T JIGA - 000 A
P2
38 EIE- 09

07.

a)

b) 38 EEIfe- 09

c) 3¢ SMIEI- 09

d) ¢ MFEE- Y ans. B
Solution: RIEEIERAEUCECIEE LD B C o SN v

Y 8 GEEIE- w09 | @G G Gy

G (A FPI () b1 Sz ST |

a FEod  SCwEl (AeHE . AEERRE (o

[IGE GO WA | TG (AT FrS

8fG 2T AT =A% | QT =0T

2/ ST FRFATCAT SIS 2P (%0d WS |
e 1o (@A SAGMAT 41 AreBIH 2o MEad Seor |
S T @ S-2AfSHife 3 ] (ST NGO |
el fEs T8 D A1 AT (FE HGS FLGA (AT

A SN FATS A |
08. “SIEF (7l FAH (& Frares?
a) NG ST b) 14l &g F==
¢) *RIVEl S d) 99 ¥&1 ans. B

Solution: REEIERGEIEHE CEE EuERoEC A G ol
ferqa a2« (IaFa 0¥ 93) | fof areaar A
SEEE S5E8 AN G2 YT BT FCAT | ST,
SoER IR W[ ANbicwa e Sfoe
G @ 2@ NRFNE M I T2y (<14
fewaa b @wred e e afve =3 | agfoa
SfST (TeA <1< FIFT (q frma 0d5) | 9204
AP TN QI GFCC | A LAG Sqmee
TE T, FEEA IET; LAe W ZE ‘New
China-1952".

09. AT IRFTATH FRCFCG I N2
a) (A& b) S
c) g d) BTCo ans. C

o Tyewred Sgg TN FEar S,
TECT, PTG, FICET, TR, W To5n |

10. ST SIS FEE @ Sif rd &N

Tralfere =37
a) Y T b) ¢ T®
) 4 Wb d) X W ans. D

Solution: PRR SRR RIS REP Bl GieE Rl
SqE APSN MtEa (16 GANAET Tl 2SI
TIGET A F@CTol ATAN qEud 99 | A
SACSd FEPMOMg IRFACH* R @3, @I =
S «fEE 35Qy ICE FREICMCTE OIS A
TG A |




11. 039 G RS I #A© IFE (F?
a) T Cr==Mar b) ATHEHA N[V A
SRIBSKIE d) *fs¥ @It ans. D
Solution: EEISERIERCRIVCERE U R E RS
TRIGEE ¢ AT FACRCT T A T
*1fECS (AT Z@FE “A T (= (290) |

12. IR =70 @ (A0 SAgS?
a) bIF b) CAICAIAT
¢) SECar<Er d) garcifear  ans. B

Solution: BREUIRISAICIErIRUE RIS B b Bt
Gre A6y 41 LA™ GF TG S JTGY 2T |

13. 3 o7 12
2) GTOITEAMI 72909 b) AGLATST TR
¢) Nqo[EM e d) AfFea<Emr AT ans. D

RPPT  Sieefes  AfAtEeEAT RIS |
Ty, et @@ Twawed GWREnEd
SEPOECY | EAgd mold A[Ne[E o
qCFd AfSaTm H5ad =T FFICE SjFelid Don’t
make a wave committee A0® ZF | AFIOCO G
1% “AfGaon F¢a ‘W=7 ar<l 28 | www.prebd.com

14. WS JIT T Aot F4r =2
a) T b) et &
¢) FICERT d) &t FEtans. D

I T a6 9z apfre %, e
I ACE *ifeq Afaae oM S99 &

AR 9T ZET 4 Fa1 =0 | 4w 929 T
A FEE ST SAE AN AR *i& (FTCEE)
TRAAE I AT IF_Afre ¢z frea [fey
feaF=TICoa &= el 2o o1k =fets ragd
FE ACF | PO qeamz To @ gl
T 6d 0 oo @ *fe a1 Freefs ar9EE
341 2 | SEPRA FER I 20 8y 4my 4
gFe wed @ fGfert a1 =fe g9 Fare A
O W42 T ToAgo |

15. Sfer@ef 3 @t (A ST
a) by b) OIFST
¢) 4 )IF@T  ans.C

sferqel a4 7 (@F weT | goEE
ISR ST T T4 060 TATaa e A,

SCHCE Q@M SEET |
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16. IToR *aa oG JY

a) feoTe<Er 98 b) =1« SECAE T8
¢) 4w T d) S W ans. D
17. Qs 40f7 s fveds o @ w=1igs?
a) CIIe b) ST
c) <@ d) A== ans. C
(G Sag® Gy ergolfgs g |
® Mobo TE THFAENF 2SCACH QfeZaRl g+
2T (Al 7 |
18. (Y I GG HICHCE T2
a) 9- B b), (T2 ST
¢) foraig weete d) #f<9 @tw ans. C

Solution: JREEIEISINEECEAC LGS sl D i aTe:|
I | T8F €& GF T e Sfewd gareE
Tog ST | g-9F ORSNIF GEHS SO
O | g- 97 T ACCT I8T & ANG | g-4F N
FACGT /A ST TN | (TP LT /I GG
AR @ | g-p To THTE (T J|F <G
B | G-(I(Y /T G X[ | FET QUICY g-9q
W W7 | T4 (FF IS [[GEE (F (e
(TR T O4 O[T GG AT | T (T I\ P
@F 99 I FoFE S (W W 9T OF
G A |

19. ST W[ et F© wifary siiffre =32
a) © ferma b) © FroTd
c) 8 ferma d) 8 «toRd ans.D

AP SRAY T 8 TewE deaR
TR (St TS d0as) 8 Wrowd s#ifaan Tos
P RREE JRS 2| OF I W dY

Cr™a | SredyT,
w fermE © CSHA 8 T(SHq
grerg effeaa st | co= o wa siefaqre faee
20. G TR
a) G b) cFIfaar
¢) G SI7q d) == ans. B

@R T A afrm eRfge « e
THARe | @7 wEEfoRd 3 Yoo RFETRGE (vb8
WEH) epiifde T Of¥Er WRTTe A SN
NRPIEACE Wedy, aft =t e A 5@ @G3R
AMGCN ZeW 154 Bl (@3 |



21. T[ICoRE Ir?
a) TGI8 b) &t
c) ofew d) Sg&< ans. D

Solution: RERIEAEEIEIRCHEICRD AT iR ST
ACE TN IO AHE Fea | ol @3
AN (A G 19 | o A e Faer e,
SPE, GRHEA AGAFCNF G | GCA-JC-
IO F4@ SRS RO DR | ANCAE SCES
Escherichia coli W@ ACF | ST,

f6 werRFfea @k TR G ST T
Y S SAJTy LA SE G G SRR IR CPE
TGre 951 Fa blEsaEl

22, Rffs WF ST AT IRFCACHT TG F© G0
12
a) & o[ b) ¢ BT
) 8 T d) © 5[ ans. A

Ly fafes Sefe (At ARECAcea g S
A4 +©' 97 | Ty, @ sefva sefze
YSAENE T+ *I20F | G2 F (ATF I A4
¥ W ReR F =W QEE W SeEE
R GMT 1 B s fiw 512w o v =3
s W= TNT @I S G TNY AfwreE ey 1
TS @A SAE e 30d | F9d 8D
@fs wEfcaE Tow A e (I FeNE
(Ted (TF (AT Wi (TF) 1S @ @47 gl
FA B ONF P NG A | T NGEAE
wifesr 0°. @ft Sv-v8 A 39 Fa1 27 |

23. fu wfoes Mt 39 “hifers =2
a) X «feR b) 2 GRFAME
c) R G d) IR ans. A
Solution: R RSIESE B¢ D EE I CElICEaR e
AFe @36 M A gfetma X aferT s =)
freeilG &IfoPRT Y@ “feam F9F LR/dSob 4T
SR e Are 90 | ) wfoew et -
R GfoorRred Arefo Mar™ T4y ooy |
Ty, X (I Gy e 4wy et |
24. IO JREW BIF (& ADIFIICT (FIH GNAAR
EYS Ry
a) o6 b) 74
c) = d) 2fac=T ans. C
(G AP, JRed IS0, JRed Jl 8
ERNEAE g o foeg 9o oios zwafee | <o
(ATF el Gifea Tesife 9T |
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25.

TS A (@ Yo TS M ICECR?
a) 2CCAM @ WfFF  b) @fEr 8 TTcEE

c) AR ¢ TGl d) WIEFS 8 dFRlans. D

Solution: JROREINCES I FEa M Sy € CE i (4

26.

@IS e T A ool 2,30 o «®
TifZ® %192 Red Sea.

“To read between the lines” means-

a) to concentrate

b) toread leaving space

c) to grasp the hidden meaning

d) to read quickly ans. C

Read between the lines (SEfFRs o4

27.

@@ oA @=Ns If you read his letter
between the lines, you will find that he has no
faith in my honesty. /%8, To read quickly to
save time O 4BICAIE & #© 7l | To read
carefully B4 STo$wld 3t 7l | To read only
some lines 9¢ @Y ¢ T2 29 |

_____mother rose in her. www.prebd.com

a) the b) a

¢) an d) no article ans. A

GG The mother 26d | 946 @v= “om@

28.

R AOg (@14 ot Teory 1”

_ y I would have called her.

a) IfIsaw him

b) If Rina had seen me

c) If Rina sees me

d) If Rina would seen me ans. B

ST &I+, Third conditional AT foas

29.

?e=e If + subject + had + verb &F Past
participle + subject + would / could / might +
have + verb @9 Past participle sl |

TP |

Do you enjoy teaching? The underlined
word is-

a) noun b) participle

¢) gerund d) pronoun ans. C

O s Be verb «@@o/ A (FICAT FI0EE N AT

© M ‘ing” T& Verb T ©@ ©tF Gerund
96T | @& I59 Verb @ Complement. (F3+8
Be verb @4 ®19 Reading, walking, waiting,
running 29jM Complement 10O #ACH | (TN
Hanjala’s profession is teaching. <)
Teaching ZC1 Gerund. Ty, I Noun &R
Verb 49 F€ S0 O O[(F Gerund 90 |



30. English ___ across the world.
a) has been spoken b) is speaking
c) is spoken d) speaks ans. C
Passive voice @ R[N Verb is @[
Speak #f§af$® 20T Spoken 2(F |

IR I 7T 2afeTe 9 99 21 |

31. Who will help you? The passive form is-
a) By whom will you be helped?
b) By whom you will be helped?
¢) By whom will you helped?
d) By whom would be helped? ans. A
Who & 9T Passive Voice 99
Structure (=12 By whom + will + object (&

Subject + be + verb @9 Past participle % + ?
IR L (F COMICF R FA?

32. Iamused ___ in crowded places.
a) to study b) to studying
¢) to studied d) studing

Solution RUSIRIT R CRCERAIEENE S [
i) Use to (do) STOIt® &l (@« F& 4l ol
8 IS o W Fell 27 1 |
ii) Be used to doing =44l Get used to + verb + ing
— O7@ T |
ICHT P A (@FErEES I GEe uee
OJ% |
33. A speech full of many words is-
a) alarge speech
b) am ornamental speech
¢) maiden speech
d) averbose speech ans. D
IeMCEd 7S ISAEE N =W Verbose
speech. Big speech 4 SFFfed o1d ard IG9[
e @9 FIE (2| Maiden speech =4
AFACNCE w49 TMETT AN S[EI| An
unimportant speech 94 952 47 |
34. The enemy gave in at last. Here “gave in”

ans. B

means-
a) fled away b) fainted
c) yielded d) moved back ans. C

AFIBre SrePPa Far 4 wfe v 1
St “give in” A | @2 ‘give in’ GF STEF *%
(=T Surrender; yield; relinquish o517 |
> Give Mt I$% Group verb (&I 20T (Fefe

Give away 94 W[« &1 Give back 99 (22 (wed
Give in 94 q<TS] IASE Fa7 Give out S¥ (IrF4T T4
Give out 4 Ffara e Give up 514 #ifgoyrs Far

F0A & |
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35. The phrase “get the axe” means-
a) cut off relationship b) get an opportunity
c) get a new job d) lose the job ans. D

Get the axe — B4l 0O 9948 €T = lose
the job

36. The spectator was alady, _ ?
a)isn’t he b) was she
c) wasn’t she d) was she not ans. C

FIG Affirmative 2 Tag question G
Negative (9 | 9t @ Auxiliary verb <U<Ftd
™1 Auxiliary verb 62 Tag question «d Verb
A | GG Auxiliary verb AT 420 wro
2T |

A oy i Wz ey, oiR A1
37. Now many women are working ___ home
with men. www.prebd.com
a) out b) off
c) staying off d) outside ans. D

Working outside home &I €8 R4
FrEd (oA FaCR | ©I2 AF Ted d).

I AP GUT T G2 AFCE ML I

B0 |
38. The verb form of ‘deceit’ is-
a) deceive b) decisive

c) deceiving d) deceitful ans. A

Deceitful 20T Adjective TR 5L F2/5;
Zorele |
Deceitful Z=T Adverb I 9I¢ LOEATHAFSIT |
Decisive (=T Adjective TF I FLG |

39. The singular form of ‘criteria’ is-
a) criterium b) criterion
c) criteri d) criterius ans. B

fafey ©mar (qF Fwa@ ©EE Foreign
plural FTETHa g« w4eT S0 AR @9 A

NSRBI
Singular Plural
Datum (T41€) Data
Agendum (751 faza/ sme=iy ) Agenda
Alumnus (A& 214) Alumni
Appendix (#faf*2) Appendices
Axis (97F) Axes
Bandit (%)) Bandits
Basis (fef€) Bases
Bureau (?F.ﬁﬁlﬁi ﬁI@T‘iT) Bureaus
Cherub (33 wo) Cherubs
Criterion (R4F) Criteria
Erratum (9014 wiferar) Errata
Focus ((F5) Foci
Formula (791) Formulas
Genus (1) Genera




Hippopotamus (E=75%) Hippopotami
Locus (%9 “1) Loci/ Locuses
Medium (T459) Media
Memorandum ('ﬁ'ﬁ?‘ﬁ'ﬁ'{) Memoranda
Phenomenon (*7 <8) Phenomena
Oasis (TFAT) Oases
Referendum (51CS5) Referenda
Hypothesis (STRE) Hypotheses
Genius (i‘!ﬁ‘)@ ) Geniuses
Index (3I6F) Indexes

40. The adjective form of ‘contribution’ is-
a) Contributative b) Contribute
¢) Contributional d) Contributed ans.

Contribution (noun) @3 Adjective T
Contributory I@ W& FREF; WFTTF; M
i\::i‘@ﬂi |

41. Move and die. Make it simple:
a) If you move, you will die.
b) By moving you will die.
¢) Without moving you will die
d) If you do not move, you will die. ans. B

Simple a Complex @9 Subject & 21
person 2¢1 O/ Compound sentence & Present
form BT S48 F4re 2 | 8 Subject & 1+
Person d 3™ person ¥ ©td Let + objective
form + base form 07 | (I3

Simple By moving, he will | Without moving, he
die. will die.
Complex If he moves, he will | If he does not move,
die. he will die. Or,
Unless he moves, he
will die.
Compound | Let him move and | Let him move or he
he will die will die.
T o TSR TACF |
42. The synonym of ‘intimate’ is-
a) Weaken b) Depress

¢) Encourage d) Frighten ans. D

Intimidate S9 ©F (AT T Synonym
2l Frighten. 94

Weaken Depress Encourage

4= &40 519 (Al BTl A (AT
9P, Intimate €3 % Synonym @3
Antonym (Af<3

Synonym Bully, scare, threaten, terrify
Antonym Soothe, console, comfort, reassure

43. Choose the correct answer:

a) A few number of students were present.
b) A few number of students was present.

c) A few number of students were present.
d) A small number of students were present ans. A
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Both, many, (a) few, several, these,
those, the numbers (two, three, four etc.) €2
Determiner ¥CF $4N@ Plural noun €9 Y
P40 JF | (T3
[ just have a few photos of my parents.

Hold on with both hands.
So few people attended.
We have invited a few friends to dinner.
It all happened many years ago.
T L OF (PR R@-REl SHg 297 |
44. The antonym of the word ‘delete’ is-
a) Start b) Delay
c¢) Insert d) Hide ans. C

CIIELE Delete o< 90T (WAT; 08 (W= | Insert o1
At FaAl; Wfee @@l | 58, Delay 1€ (a4 |
Trap o< FITF ORI F991F AfFFGT | Injure
o TS/ WS F4 |

“A letter is going to be written by me”-
Make it active: www.prebd.com

a) ['am going to write a letter.

b) I will write a letter.

c) lam writing a letter.

d) I will be going to write a letter. ans. A

Am/ is/ are/ was/ were + V| + ing +
object & Active (& Passive @ [¥@T F4HE
IRSIREGIE

45.

Active | Subject + am/ 1s/ are/ was/ were + V| + ing +
object.

Passive | Object & Subject 24 + am/ is/ are/ was/ were +
being + V; + by + subject f Object 27 |

N.B Active voice 0 Present continuous ZC1 “am/ is/
are’ Y<9R Past continuous 201 “was/ were” 9071 |

eFrE e Wi G (o Bfe forats 1Moz |

46. Beat about the bush — 3 0% SM:
a) i I ORI
b) wHa a1 aif@ Far v
c) (AT (Af¥ICd =12 TR (M4 ©IR
d) ©f o I e ans. Note
WK Beat about the bush (F&Ga 9¢ CE
T30 | T G517 A AF Ted =d “oid
SCE ST | WA 4 (@ Fo -0 A’ Al
O qIC% 90 |

47. 4N AP G« F1odd- Correct translation
in English:
a) Smoking is bad for health.
b) Smoking is telling upon health.
¢) Smoking was a bad habit.
d) Smoking is a dangerous for health.ans. D



48. He visits the school off and on. “Off and
on” means:
a) regularly b) frequently
¢) never at all d) occasionally ans. D
Off and on &F WA WA | QA
Frequently S< &%2 | Rarely S/ 7o |
TR S T T A Fo1 ~Afavrde Fa |

49. 1 have left the room but he (enter) the
room:
a) enters b) entered

¢) has entered d) is entering ans. C
IW (@ ACH But Conjunction RETT

7o TY O 9 ToF A Clause 9F2

Tense =0T |

I L AW % Oy FeaR (G GT FCw

T FCAC |

50. What is the time ___ your watch?
a) 1n b) by
c) at d) to ans. B

OO0 €% SEpiea 4T 9fere 4RITS “in watch® =1
0T by watch® 307 | SR fF B 2003
What is the time by your watch. www.prebd.com|

e e (SN TfSre FUo! ACE?

e orER wifn fawefs et

a) 5% b) &FE IS FJ

c) IFET d) SgwITeE Sans. A
Solution RIQIRCHIEEC IFRCEE ST E RGOl
do0q IME | ©. TAPIW *@ 50 A FoIER
A AFPE CF S SAHE ST SodY AT
@2 &7 T ey “fw @S 2F e =7 |
TR (I D &2

a) ST RN b) TC 5qMFT

C) OIS b A BT d) NG ans. C
OITObY AT (3DR-d90) BV
O Q[P el F 8 THAFCAA FHCAT (< |
VI BT G (o AT S 21 |

53. PifEwcr I Rewe v &2

51.

52.

a) 9= s@ael  b) FuwY ¢d
C) SAehy ANeNFE  d) SAENSH ans. B

O SAb0 (ATF Sbrbo 28 SR FoPIHEIT 0 |
I Ty ©% U2 STIIICE IR ARCS) P
SRV (EFCACRA 0T Ol Foiha i o1l 23 |
SOIPAT ST AT AT ATST (2

a) WR(F TPMA T8 b) FAGAR 94

54.

ans. A

¢) ST verger d) fage =
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%ﬂr‘mﬁ A TG-(F T ARCo) WY
SEHET da9F, TIPS B G

e vifRCer oy @R FR @@ A
2ASF I 2 | A ARSI AT FCAG AL
VRF TPWa Ao TouEAm  FfoEEl
(SruY) | 0T Ffe! FHleTo FAT |

55. 0 AFF I
a) fafeifeaT b) et
c) ferfarst d) fefeifefs ans. C
Solution: LA DR cI IME ST G L S A ¥
*arg
ﬁ‘gﬁiﬁr s NATHRT e
e aee R L]
E forE e Ao
e T S
ae TGS Aot S
56. =90 (9 ©IFEF *i%2
a) of% b) I
c) S d) “refE ans. C

Solution : I SITINCICl TN C PR EC I F (T

T, ZTCEAT, GOl | ST,

B =3 TEgF, @, OFF, (O, TS, A2 (FT 910G,
qFv, FeTe, (O, ¥, o0, S, A, =1, {44,
5T, ST, BT, #, 4M@, 5d, B, B, F,
?ﬁwmmﬁl

WEPE, SR, S, (Fafa, o, e,
e, awr, 51, “ATe#f5 , =i, 4=is, SHeET |

57. ‘SPRT I A2
a) AAGAR S
b) TG TPl 2T
c) AT SIS
d) =R D™ JCAPIEE ans. A

Solution ERRREIS CE R e DA E QRS E el

TGt

faes @ g e sfEforeme e JW @
B (WS =18
AFS A TF 1Y
T 2Pl PRZ ST (951
TEA4E e 4
A < oAe ofEa
vy ¢/ Tgass ‘qﬁfﬂﬁ?&-‘mﬁ@ﬁ
W i 2y f=ram
fazrare baraer comEa A
FARDOM QLA TG
a1 car I
T, ST ([ W
ATl A
e T sitgr fam
G AT & el
T 9 SFEH
meﬁr FRCEEAT
TErEaE 4 ©8
Ce1 Sifergd T= NGES G
SF5Y SGAS! GATH
ST Meze
FUE CeY Azt ol
G EECRIL]




58. ¥© A wifed frer I o Yo ==

‘Gee IR At ofe 4 =37
a) doYbr b) 5543
c) 5593 d) 5599 ans. C

g 4 YGgE T=E do WREE, AR
AT Giere FE A0S QTS I | A @R FFE
AT Gl T 19 (1, 3599 A |

FHRSr S 12

a) M2 TP W6 b) TG IFH

c) FIG T&F DEN  d) TN T ans. B
TS (d590d) FNHAR IFEE e
FqoM I | PO FEGE TS
e | STHIPEe ST (A Forefd e
TRSTS AR | T,

59.

e (FTarE) FE TG 2
SeefareT (F47eY) A ITFT
Y (&9F) FG ATSER ZPI

60. I& o TR R I[E® W
Al I e =2
a) T (= b) FeIEF e
¢) tife TagS d) 4D ans. B
Solution: RISIEEEG GRS IS R
aFifre = Tefes [emia 2 T (dow)
QJTF | TCERT, FIG TGP N AT Ao
(d50) UF tANE AGHE T W =Ce | o
TGFCTd WA PP (35R) TR
AP ([ TO | TMe (S5 ) Ao L4
AfasETe Qe FE TEwe TN gR THAME
W@WW‘?{[&T{EH
‘AT G LT *3 (A2
a) o3 b) T
c) 7@ d) Sifg=ife ans. A
Solution: RRIEERAVICAC IR CEAC DR SR L o]
g WG, AT, O, TOHE, VR, WS,
4T 9™ | www.prebd.com

61.

62. T G (oSS =17 (@02
a) T b) ey
¢) 31551 d) fzesm ans. B
QLR o 3 feire =% STey/ AT | Sugy
T * faodrerds = T * fasarerds =m
fareqm ST o foroe
faeat el A Pl
(o1 =h /o Tz A
w9 o4 EE sfqaye
™ 2T 95 T
e T T$ fars
EgE feefes g faem
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63. FTOMIF I @ @R ARMNSAS X be-
a) ST b) FE5aY
c) 9% &7 d) 9o ans. A

Solution: JEISIRIEER < MRUC IR Ui MR ES 7 L B 1
TF SANSATS (R 2LAGCS F104 | TrEy,
SAOAHT  AGEM  ERFT  @TFA TS
@ dve Gt TATPT SFEroEE 39 | a3t
Yo0e I WS AT G (Fiee raiiens
STl TGN A= 429 4o 27 | dsob
A THAMPIG YRR WRd  SIHe B |
THATPIG qREE AN (0. =T S A

OB T ACS FFTOME T2 FG |

v v
[ ToAT: ST ]Uﬁﬂﬁs@ ] G T
ElECI s fe=femm zen Sultana’s Dream

64. I P @ 93> 19 T
a) PIG] NG EN b)) *TE A=A
¢) SIRI 2 d) g 29 ans. B

I e e o M B ) B G
SGFRA DOl YSTaP SGqEe@  AREACAC
GRE-TCRE 599d T AMO | 359 I
G W7 Feron Q30 AT o 27 |
FAYC RS P e It g
SRIAG (A B4 OF FE) 641G (@A 60
I | O SLEAAMT BTSN 23 (STACH
N[ & (X FQol, ThTel 9, Ty,
e djd o ofels wfqerm FdiTel
THIET SIS 8 O & Fdl AR | S5
AT *fRAcad T @2 Q30 O 4l 2R |

65. ‘Ratio’ *=od AfFeiRE q7f @ML?

a) ey b) S

¢) S d) siifa ans. C
66. LA =¥ F© LFE?

a) X & b) © 2FE

c) 8 FIH d) ¢ g ans. B

s Scda sider faerna =m o oF@| [
QS *F1, AP W QR @IEE X ST,
TOTFEFOT *MCF ¢ OL O Fdl TIH |
NSTLTFOIE *ACE R O S el T |

67. A AT R Ire IE @ I[E @

fqefe?
a) TS ¥7 b) AT =y
¢) SPATATCH *7 d) SifsFce 57 ans. D



Solution: RERIEAS |EIECAC B I r E e (G N o b
qYE FCe few weafoe e 3=, I, 959
oyl IR ACE | @ [T AT 7R AT
E W% ASFA ATl AH (T AfICS =G |
Ty, A IR AN AT ¥W frefew fam

CUIEGREIGIF

FER %_ﬁﬁwwﬁmu
0 Wy Ripfe v war |
e *[7 T S A0 GRI0S ST
AT 0 s o vt ane
SATATC *F1) ferer BTt qua @eem
A ] S T 99 S
68. ‘CSARA (I FACTH SUIZR!?
a) a"a NPT b) SIS T
¢) fae =1 d) F4@@ 5 ans. C

(ooifen = foF eeaa T=E | SuEey,
SRE (ST(E) 41 e eed RAEnS *twd A
0y “itva @ SR 2, ©oiF fag ST A0 |
fae ST TPy *WiG Uy <1 2 | @998
foq Fem TRE = G, GcRRR TWEE =
e, for M SNEE = (N, T Stwd
TR = =, fa (o) «itaa 9= = f@emr,
AFLET SR = Aol 29J(M | G ABYD,
bovE, bow, fauuiAr, coaAl, Si%ge,
STooTg 295™ |

69. TWWE T @R AL IF0OT GF FAA AP
(@90 ? www.prebd.com
a) SN[ b) ST
c) AT d) 99 "™ - ans. A

I e T (1R I IHHT 9F FAR
B BT ST | Sy, W facy ey <

IR
AL WA GFE = oA
WAL WA (@ = SfgEed
SR (4 (IR = TR
wGal GeRfRel FA (4 = e AP FACS TRE = FABIYG
A WA GIS = FfS AT FAE 2% = SR

70. IS *oa i [y @Eio?
a) I + Afe b) I + “ife
¢) 9 + “fe d) T + s ans. B

OO0 oot A et e = o + 54 =
AP (O + W = (W 99 + oife = F7ifs;
A + A = ATHE; TP] + Hq = AN | G40,
AT 2= et B i |

T W 9P ¢ oy TG

a) ¥4 + o9] b) ¥4 + 99j
c) FI + SJ d)F + o9

S LA = oTw
e SIS = AT
s wid 7@ 71 = Afenrd

71.

ans. D
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CHS P T3 O (SIR)

WIS A FE, [ VA + O = TS NF + O = FO95; T +
the otd | T = WA NI + O = WA i + 5 =
farerae */ 50w | GBa5; VEF + ©F = (Tedn: VS + O = e
A | (@ ZoT™ |
72, AT (I SO *R1?

a) ooy b) S

¢) SRIT d) faerge ans. C

Solution: IGIRCRIERCE SIS G IS Sk R |
AT, TN A 2 B ICH 47 20O AN
M | QST 7 *CHd A 67 | GF LT *#0a
IEAF @G Afqqen Afqe 2 | @[3 Tod
A = cofd 7 Wwa Sedd fer e
W, AwE N TEPIE W0b;  *twd oidd
FCHOF QO G *[T7d S AGO 96 | S
TIZO I SII6P * LR A ST |
i P Ao o Fre
a) SFTFe I8 b) SiZrerif*re
c) &pd 41 d) 989 g« ans. D
Solution: RINEESUNCHEARCRI A SR Sl L)
I D I A (4 ETCA AT | Toey, S
i o eFged I

AT bV = WS 98
e[ = FHIl]/ TS
HSH! A5 = #IG]

73.

W ETEI = PP gl
HAG 41 = e
SEAE = e 478
Y = LT e AT = Srad 49
SLEd i = Seed [Aew & FAIS = Fod/ S

74, 3 SrorE @ [efen grew 2= @ [
o= 12

a) MG (1) b) & (:)
¢) CIRTFE () d)er (—) ans.C
Solution: EXINORISE NGNS CE R eyl )
G (3) 907 |
chEamEe () | &0 s @ fTEfes ames o=, efeEE

T | (@ TRIACEE WG A% Sl Q@ W&
a4 & o2 qogar?

G35 Sojf AETA oNE S I ACEE STqOrEl]
FACS LA (I IS 2 | (A TS AERS 2
AT #td T FTerifen v sfve = |
@trE ¢ fi ey e S w2 A oW @
ACETE AT 41 TR @RS T 5% 99%© 27 |
(@3 (ST WAqd S F4- TS (SCHa A+
A -4 |

AT SAREC TSl 4@ 99 e (wAEE &
@4e w9 feafer araga, e 31 94950 o |
I3 < 518, T A “Afeeea |

75. *R5Y SO Sppe s el avm ata
@ ey

a) Fedrol ERWIFR b) Bl =

¢) FwsEer d) *ifeF o ans. B
AEHY SO S50y A B

e zre b Tafy sie I « 3

Yo I FEdrel R @ Eerarar

T |

(T (2)

A (-)

= (,)




76. > &9 &fiF 8 Ut > oo Bl T FEF | Y &
i o e seifasre o ww s

a) Q% b)Y

c) ® d) v ans. B

'ea@'r_r{![ﬁl?ﬁb Jbroo BT oI F¢d = 8 fote
> G &N 3 ,broo BIF S F6d = (8 x &) Wi

8 x &
v & fF S oo B WE FE = —— =

L
Y
77. °@ ¢ frem IS AR #idFT 0 IF | b TA
7 OITHT ACW B 93 g T Ji@d I8TH
I 92
a) Sbr =g b) >Y 9%d
c))QW d) b =4
arff‘r SJTEE TS T x T2
ﬁl—ﬁa-‘ﬂm?mﬂ(x+m)w
NS, (x+ b))+ (x+W + ) =9

ans. A

—> R+ VY =9
= =0y
X =2
SR A0@T FOA I dbr I=A |

78. b woo FRAMIE F© BT & FaceT AT e
{(q?
a) R b) ©
c) @ d)Q ans. D

Lﬂiﬂm,x‘s\soa:@xxﬂ X 30.X 30X 9
QT , (© X V), (S0 X d0) (EFIYl ATHCH AT |
feterer @ 4

o QR el FEee RIS e %)

79. @36 ANSTS TO&H TP SR AT T
3¢.00 GBI I bl (MG (6 20¢ BT ZCAT |
W) R F92

a) 0 g« b) ¢ &«
c)aAEd d) >¢ &« ans. C
OO 44, Aiffea (G S 2T x &
FANCO, x X 3¢ X x =q9¢
= 3x’=9q9¢C
= xﬁzuzsa
x=1[8s =+[ar=q &
S (G AW FIT q & |
80. A FICAT WPFE S I A-SIPE BIAed
T 0 T 97
a) €% b) 0%
c) 3% d) e% ans. D
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arﬁr ST Soo BT
aﬂi‘wwm 800 BTl
39 = 800 - Y00 = Voo B[
qf9, 307 TE x%

Y00 X ¥ X 3
PTS, XX N

yoo
—OGOX>GD—QQ
= Y= oo x s

X =R

widTe enE =4 ¢ %
81. 8o BIFW T I @ I wo BIFH b6

I e a0 *rowql 9 @S 91 Ffo 742

a) % =S b) ¢ % o

c) 0% e d) 0% "o

:qﬁwm 380 GBIl

>%W—m3?rf—ﬁ—qum

= 900

ans. A

bfG S FIFE = 0 X b = dbo B |
G4, @ 200 BT
.= {00 = dYo = 8o BIF

8o

SoUq, *oRdl Fl© = (2? X 00

82. B2b RYF TAS 8 § ¢ IR SITHA TG, dbo
T FHOA TR FO?
a) O b) 8o
c) 8 d) 8¢
ifﬁ GFIB IRAT Cx TR HHG 8x
OMF #1318, =8 X ¢ X x = 0x

EACS, 0x = dYo
RICTe

To = ¢ %

ans. A

~ 0
TG, (F6 AT = b x 8 =0
83. @Al @6 @fITS 5 T s I[WER 9T do

27 | © FrEd aov of$ 2ew IR AT ==
R T | Toq © & FrEdin |ew E I

q=q?
a) W b) w¢
c) 8¢ d) ex ans. A

Solution: PIRUSERIEEINCEG RS (WE R e R DI
=3 X 59 = 589 959 |
@A, 38 GCE T T M A OE W
S = 38 X 3 = dubr 924 |

S TP O GEAE A SWEB = Sub - H89 = ¢ I=A

84. @o &R doo ¥ VYIS JX&Y ¢ FHON (TP
IR NG 7
a) a8
c) Y

b) a¢

d) Q4 ans. B



NN ¢o (AMF doo GF WA JREA € Fuod 1\? 1\? 1
AR &, (x-=) = (x+-) - -
GNP FR4IT TAMGHCT 85 8 59 | ’(‘1 x) (J‘J’x) 42y

=t?‘~ﬂ:?~ﬁ=q — (I* ) —32_4=-9_4-=5
85. secB =2 T cot G T 1 —, (I-I) _ 5
a) = b)+= 4
\5 \3 — (x-l) - 52 (@ %)
)3 d) /5 ans. B X
4
WW,SECHZZ (,);-l;) =25
: .
= cﬂsg—z 89. a+b=ﬁ,a—b=ﬁﬂﬁ5&bﬂmw
= cusﬁzé ) \3 b) \/7
. )5 d) 7 ans. C
= ;"jeﬁaf-"s 60 OYEE, st &, dab = (a@+ b)? — (a — b)?
b 8= = dab = ()~ (), =13 =4
oEq, cotd = cot 60° =
‘\l_ p— b:Z:l
86. x+y+z:7tﬂﬁ?;xy+yz+zx:10'ﬂ’ﬁx1+y2 © 5qb=1%x5=5
+ 72 @3 9 F92 www.prebd.com )
a) 29 b) 32 90. \x= 75T x & W
€) 33 D43~~~ @sA 2) 0.00001 b) 0.0001
AT it @i, (x + y + 2% = 22 + )% + 2 c) 0.001 d) 0.01 ans. C

2(xy + yz + zx)

= PP=x*+y" +72+(2x10) Solution: RSP ‘\]__10
= 49 = x’+y +72+ 20 L
= X +y'+72=49-20=29 — 3:—6
o2+ y 4+ 72=29
87. 2 x 4%-5= 512 T x G N F? - ( ) (10) —m—oom
a) 2 b)3
c;4 d;5 ans.B | - *=0001
wm,zx@x—ﬂ:sm 91. lugzﬁxzdl?&ﬁxtﬂﬁﬁﬂﬁs‘@?
a) 16 b) 32
= 4%5=22=256 548 d;; ans. D
= 43 =4¢ LLLER T 9CE, log , ;5 x = 4
= - st > =)'~ 21 ()
" ~ 16 x4 = 64
=370 92. x—1- 6T 52— @@ UM
: x2+7Tx-1

88. x2—3x +1=0T (x-%)4tﬂ?fﬂﬁw

a) 3 b) 7
c) 25 d) 52 ans. C
OO C7al @Ieg, 2 — 3x + 1 =0

= x*+1=3x

1
x+—=3
X
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93. x—y=3TEFx’ -y’ - 9xy @G
a) 27 b) 18
c)9 d) 6 ans. A
(AR MR, x° — y° = 9xy = (x— y)° + 3xy(x
—y)—9xy
=33+ 3xy x3-9xy
=27 + 9xy — 9xy
=27
94. @36 67 TR T SR THOR /3 &4 A,
A THS (TeI-
a) 30° b) 60°
c) 45° d) 90° ans. A
Solution:[ERIGH %Wlﬂww
WW{ nﬂw
W tan ‘\j_ 1
—> tanO = tan 30° B V3 C
S 0=30°
95. @36 frweagm «f WF 4293 ==
Ifewraa AN F© @FF2 www.prebd.com
a) 4 b) 8
C) 16 d) 32 ans. C

WW gfewtas w0dfa G 42 9F%
IFCFEE GFAR = 4 IFF

;. IfCwEE AP = 4 x 4 = 16 959 |

96. @36 SFrHGA AT 44 FOR 197 Ay, &g
el 4 foE @ S G e atg ST
O?
a)2:3
c)ﬁ 5

ﬂﬁf o x i
Ay (x +8) fBE |
Hee, (x+ 8 + x) = 88

= (W +8) =288

—> WU +8=
X=9
wdie &g » o™ @32 W (5 + 8) = »o o= |

s e agme =3935

97. «3fo Jififerics e JReEE (g 10 Gif,
8 8§ (V.| T CwFawe 63 ITCIN. A,

b)5:6

d)13:9 ans. D

TR LA NG| g F© GIfl?
a) 7 b) 21
c) 21 d) 63 ans. A
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YR G Ste, SifEaed cFase = %x

%ﬂémmﬂm@mxww
I

— ®@=§X(>O+U)KWWW@W

= WWW@@Q:%:ww
98. @3 e CFIFPCTA BT AN A ST
-

a) &l b) T
c) EIEIE] d) 3gF=II ans. C

B} Radius (I7P714)s 309 “ifdfdq @ &= g
@ @9 48 wage GPIE (Radius) 90 |

3

Chord e g @ @F Y2

(&3 TRAGSE  IEaACE &l (Chord)
[ E-a o [(feg W o
ATCE | 064 Ao &I-(F P 0 |

Diameter | Jted M4 @ (@@ 92 [99q

(J717)3 A FGEad] QAR 20,
It Jefod I (Dlameter)?lﬁ |

Sector a7 V26 TPIE G FRHB Jasrl

(g3 KIEIIRIEIC LIS OIS i i R |
(Sector) 90T |

99. 36 I8 YL DT T SRS (FHY (PN
140° 21, TS BIToiE TAT S[ES I8 (I

-
a) 10° b) 60°
c) 70° d) 280° ans. C
] & SR, UeT G BT Tod eI
ﬁ @ (@Y (IO G |
_I? ﬁ 580 o
100. ABCD T8 ZABC = 120° @32 94

®nfe¥ O | OE L AB %#, ZBOE =397
a) 30° b) 45°
c) 60° d) 120°

Solution: RIEGEHIBRIKIATCECIISS:
D

ans. A

A
@41, ZABC = 120° "-ECFTBLBOE — 60°
94 AOBE 2(© 1%,
Z/OBE + /BOE + Z0EB = 180°
60° + 90° + Z/BOE = 180°
ZBOE = 180° — 150° = 30°
Z/BOE = 30°

U U
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